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% © 3.1 — Linear Equations and Arithmetic Sequences © §

Daily Objectives:
1. Given a recursive formula, find » for a given u,
2. Graph an arithmetic sequence to locate the un-intercept and determine the slope
3. Recognize slope as the common difference of an arithmetic sequence
4. Use the un-intercept and slope to write a linear equation
5. Recognize that an arithmetic sequence is always linear
6. Introduce explicit formulas for sequences
7. Recognize connection between explicit and recursive formulas for arithmetic sequences.
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Example 1: Given the recursive formula below, write the explicit formula:

U, =227
u,=u,,+1.37

Ay * 2.3 4 4 370

Example 2: Consider the recursively defined arithmetic sequence:

U, =2

w,=u, +6

a. Find an explicit formula for the sequence.

Mdn = 2+l

b. Use the explicit formula to find uy;.
/é(;j = 2+ .‘«ﬁ,’(/z?/)
Az = /34

c. Find the value of » so that u, = 86. 9L =2 Lo
Y = b
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Example 3: Consider the recursively defined arithmetic sequence.

a. Find an explicit formula for the sequence.
A = /3 — 3/7—

b. Use the explicit formula to find u7. w;7=/3 "3 (17)

wyp=/3-85/7

A7 T T 35
c. Find the value of 7 so that u, = -50.
-50=/2 -3,
-3 /7 'f“i:7
~43° -3~ f;l/ = s
’;; =3

Linear Equation:

\‘j:m%*lo \Lj:a+)ox A”*@j’c

Example 4: Matias wants to call his aunt in Chile on her birthday. He learned that placing the call
costs $2.27 and that each minute he talks costs $1.37.

a. Write the recursive routine to represent the cost of Matias’s phone call.

’“ﬂ =d.27 /‘(ﬁ:/éélt../#/.37 n? /

b. Write the explicit formula. U = 22744300

c. Write the linear equation for Matias’s phone call.

JF 2,39 #L3?Xx



Example 5: Rita typically spends $2 a day on lunch. She notices that she has $17 left after today’s

lunch.

a. Write a recursive routine that represents her daily cash balance.

,ﬂ/ =l/7' /alb :ﬂr/tﬂ/ ‘”’2 »~2Z 2

b. Write the explicit formula for this recursive routine.

NEED 70 HAVE Ay, ,/

AMn 2 /72~

c. Write the linear equation for this situation.

j: =2

Example 6:
Graph the explicit formula:

u,=3n+2
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Graph the linear equation:

y=2+3x
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